00000000 U o0 (2)

2002-10/18 00 0 10/250 0

1 00 FourierUOOQOOOOO

)-L<e<LOODODOODOOOD0 20000 f(z)0 O

oo

f(T): Z cneinmc/L 0

n—=—o<

ooooobooouooogn Fourierd O ¢, O

R L/L Fx) —inmz/L 1,
Cn = 5T . x)e &€

0000000000000000
i) - L<x<LO00000000000 20000 fla) =€ O

sinh(kL) <= k+inw/L)
flx) = % Z (—=1)" k;?-: ((nﬂ//L;? ginma/L

n——oc

O00o00O00o0oooooon
iii) 00 Fourter 0 0O 00O Parseval 0 O O

[ee]

1 't 2 _ 2
ﬁ/Lf(:c) de= > e

n=—oo

00020000000000000
a)000(1),(2)00000OooO0O
b)J 00000 OFourier D00 Parseval 000000000 DOOOO

good

(1] 0000000 MOooOooo,o000o (1990).



